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Stay Condition vs. Exit Condition
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Stay Condition vs. Exit Condition: Exercise
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Initializing an Array of Integers (1)

Approach 1: Initializer

Approach 2: Discrete Assignments
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Initializing an Array of Integers (2)

int[] seq = new int[10];
seq[0] = 7;
for(int i = 0; i < seq.length; i++) {
   seq[i] = seq[i - 1] + 3;
}

Approach 3: Patternizing Stored Values i i < seq.length i - 1 seq[i - 1]
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Initializing an Array of Strings

Approach 1: Initializer

Approach 2: Discrete Assignments

0 1 2
“Alan” “Mark” “Tom”sa -

. T
-

String
-

L ] sa = { "Aki's
"

Mark 's
"

Tom
"} ,

⑥ I 2

Sa
→

"date I
n*¥ , Kui Eun

SgE ] sa -

- nee
. String[335

Sato] =
"Alan " s



for-Loops vs. while-Loops: Iterating through Arrays
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Computational Problem: Average
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Computational Problem: Conditional Printing
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Computational Problem: Printing Comma-Separated Lists
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Computational Problem: Printing Backwards
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Computational Problem: Finding Maximum
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Computational Problem: Finding Maximum
Exercise 1

i i < a.length a[i] Console
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Computational Problem: Finding Maximum
Exercise 2
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Computational Problem: Checking a Universal Property
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boolean atLeastOnePositive
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Computational Problem: Checking an Existential Property
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Computational Problem: Are All Numbers Positive?

Version 1
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Computational Problem: At Least One Number Positive?
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Computational Problem: Are All Numbers Positive?
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Computational Problem: At Least One Number Positive?
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Computational Problem: Are All Numbers Positive?
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Computational Problem: At Least One Number Positive?
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Computational Problem: Are All Numbers Positive?
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Computational Problem: At Least One Number Positive?
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Computational Problem: Are All Numbers Positive?
summary



Computational Problem: At Least One Number Positive?
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